WERE WMEEH BE EXIE LS5EHE BHM=E
EH RETEHD
(L/s) (MPa) (r/min) (MPa) (MPa) (kW)
1 |XBD3/5-65L-KQ 3/2 0.3 2960 0.36 0.24 3 75
2 |XBD3.5/5-65L-KQ 4/2 0.35 2960 0.42 0.28 4 78
3 XBD4/5-65L-KQ 5.5/2 0.4 2960 0.48 0.32 5.5 102
4 |XBD4.5/5-65L-KQ 5.5/2 0.45 2960 0.54 0.36 5.5 102
5 |XBD5/5-65L-KQ 7.5/2 0.5 2960 0.6 0.4 7.5 107
6 [XBD6/5-65L-KQ 7.5/2 0.6 2960 0.72 0.48 7.5 130
7 [XBD6.5/5-65L-KQ 11/2 0.65 2960 0.78 0.52 11 170
8 [XBD7/5-65L-KQ 11/2 5 0.7 2960 0.84 0.56 11 170
9 [XBD8/5-65L-KQ 11/2 0.8 2960 0.96 0.64 11 170
10 [XBD8.5/5-65L-KQ 15/2 0.85 2960 1.02 0.68 15 180
11 |[XBD9/5-65L-KQ 15/2 0.9 2960 1.08 0.72 15 180
12 |XBD10/5-65L-KQ 18.5/2 1 2960 1.2 0.8 18.5 180
13 |XBD10.5/5-65L-KQ 18.5/2 1.05 2960 1.26 0.84 18.5 180
14 |XBD11/5-65L-KQ 22/2 1.1 2960 1.32 0.88 22 255
15 |XBD12/5-65L-KQ 22/2 1.2 2960 1.44 0.96 22 255
16 |XBD3/10-80L-KQ 5.5/2 0.3 2960 0.36 0.24 5.5 110
17 |XBD3.5/10-80L-KQ 7.5/2 0.35 2960 0.42 0.28 7.5 113
18 |XBD4/10-80L-KQ 7.5/2 0.4 2960 0.48 0.32 7.5 115
19 |XBDA4.5/10-80L-KQ 11/2 0.45 2960 0.54 0.36 11 165
20 [XBD5/10-80L-KQ 11/2 0.5 2960 0.6 0.4 11 170
21 [XBD6/10-80L-KQ 15/2 10 0.6 2960 0.72 0.48 15 175
22 [XBD7/10-80L-KQ 15/2 0.7 2960 0.84 0.56 15 175
23 [XBD7.5/10-80L-KQ 18.5/2 0.75 2960 0.9 0.6 18.5 203
24 [XBD8/10-80L-KQ 18.5/2 0.8 2960 0.96 0.64 18.5 203
25 |XBD10/10-80L-KQ 30/2 1 2960 1.2 0.8 30 340
26 |XBD11/10-80L-KQ 30/2 1.1 2960 1.32 0.88 30 340
27 |XBD12.5/10-80L-KQ 37/2 1.25 2960 1.5 1 37 355
28 |XBD3/15-80L-KQ 7.5/2 0.3 2960 0.36 0.24 7.5 113
29 |XBD3.5/15-80L-KQ 11/2 0.35 2960 0.42 0.28 11 165
30 |XBD4.5/15-80L-KQ 15/2 0.45 2960 0.54 0.36 15 175
31 [XBD5/15-80L-KQ 15/2 0.5 2960 0.6 0.4 15 175
32 [XBD5.5/15-80L-KQ 18.5/2 0.55 2960 0.66 0.44 18.5 203
33 [XBD6/15-80L-KQ 18.5/2 15 0.6 2960 0.72 0.48 18.5 203
34 [XBD6.5/15-80L-KQ 18.5/2 0.65 2960 0.78 0.52 18.5 203
35 [XBD7/15-80L-KQ 22/2 0.7 2960 0.84 0.56 22 235
36 [XBD7.5/15-80L-KQ 22/2 0.75 2960 0.9 0.6 22 235
37 [XBD8/15-80L-KQ 30/2 0.8 2960 0.96 0.64 30 340
38 [XBD9/15-80L-KQ 30/2 0.9 2960 1.08 0.72 30 340
39 |XBD3/20-100L-KQ 11/2 0.3 2960 0.36 0.24 11 178
40 |XBD3.5/20-100L-KQ 15/2 0.35 2960 0.42 0.28 15 188
41 |XBD4/20-100L-KQ 15/2 0.4 2960 0.48 0.32 15 188
42 [XBD4.5/20-100L-KQ 18.5/2 0.45 2960 0.54 0.36 18.5 218
43 [XBD5/20-100L-KQ 18.5/2 0.5 2960 0.6 0.4 18.5 218
44 |XBD5.5/20-100L-KQ 22/2 0.55 2960 0.66 0.44 22 250
45 [XBD6/20-100L-KQ 22/2 0.6 2960 0.72 0.48 22 250
46 |XBD6.6/20-100L-KQ 22/2 20 0.66 2960 0.8 0.53 22 250
47 |XBD7/20-100L-KQ 30/2 0.7 2960 0.84 0.56 30 330
48 |XBD8/20-100L-KQ 30/2 0.8 2960 0.96 0.64 30 330
49 |XBD8.4/20-100L-KQ 30/2 0.84 2960 1.01 0.68 30 330
50 |XBD9/20-100L-KQ 37/2 0.9 2960 1.08 0.72 37 345
51 |XBD10/20-100L-KQ 45/2 1 2960 1.2 0.8 45 440
52 |XBD11/20-100L-KQ 45/2 11 2960 1.32 0.88 45 440
53 |XBD11.5/20-100L-KQ| 55/2 1.15 2960 1.38 0.92 55 550
54 |XBD12/20-100L-KQ 55/2 1.2 2960 1.44 0.96 55 550
55 |XBD3.7/25-100L-KQ 15/2 0.37 2960 0.45 0.3 15 190
56 |XBD4/25-100L-KQ 18.5/2 0.4 2960 0.48 0.32 18.5 218

- 1=1
MERE

(L/s)

MEED
(MPa) (r/min) (MPa)

EiE

Eh

EAIfE 1.5(58E HBHNE
RETEND
(MPa)

(kw)

HMiEEERT (mm)
L1 M by, b

d DNI1(mm) DN2(mm)

#OE=

HOZE=

FRiwaE ()

IBHRILS:

113 |XBD5.3/45-150L-KQ 37/2 0.53 2960 0.64 0.38 37 393
114 |XBD6/45-150L-KQ 45/2 0.6 2960 0.72 0.42 45 433
115 [XBD6.4/45-150L-KQ 45/2 0.64 2960 0.77 0.45 45 433
116 [XBD7/45-150L-KQ 55/2 45 0.7 2960 0.84 0.49 55 538
117 [XBD7.5/45-150L-KQ 55/2 0.75 2960 0.9 0.53 55 538
118 [XBD8/45-150L-KQ 55/2 0.8 2960 0.96 0.56 55 538
119 [XBD9.2/45-150L-KQ 75/2 0.92 2960 1.11 0.64 75 740
120 [XBD10/45-150L-KQ 75/2 1 2960 1.2 0.7 75 740
121 [XBD11/45-150L-KQ 90/2 11 2960 1.32 0.77 90 790
122 [XBD12/45-150L-KQ 90/2 1.2 2960 1.44 0.84 90 790
123 [XBD4/50-150L-KQ 37/2 0.4 2960 0.48 0.28 37 393
124 [XBD5/50-150L-KQ 37/2 0.5 2960 0.6 0.35 37 393
125 [XBD5.5/50-150L-KQ 45/2 0.55 2960 0.66 0.39 45 433
126 [XBD6/50-150L-KQ 45/2 0.6 2960 0.72 0.42 45 433
127 |XBD6.5/50-150L-KQ 55/2 0.65 2960 0.78 0.46 55 538
128 |XBD7/50-150L-KQ 55/2 0.7 2960 0.84 0.49 55 538
129 |XBD8/50-150L-KQ 75/2 50 0.8 2960 0.96 0.56 75 740
130 |XBD9/50-150L-KQ 75/2 0.9 2960 1.08 0.63 75 740
131 [XBD9.5/50-150L-KQ 75/2 0.95 2960 1.14 0.67 75 740
132 [XBD10/50-150L-KQ 90/2 1 2960 1.2 0.7 90 790
133 [XBD11/50-150L-KQ 90/2 11 2960 1.32 0.77 90 790
134 [XBD11.5/50-150L-KQ| 90/2 1.15 2960 1.38 0.81 90 790
135 [XBD13/50-150L-KQ 110/2 1.3 2960 1.56 0.91 110 955
136 [XBD6/55-150L-KQ 55/2 0.6 2960 0.72 0.42 55 538
137 [XBD6.5/55-150L-KQ 55/2 0.65 2960 0.78 0.46 55 538
138 [XBD7/55-150L-KQ 75/2 0.7 2960 0.84 0.49 75 740
139 [XBD8/55-150L-KQ 75/2 0.8 2960 0.96 0.56 75 740
140 [XBD8.5/55-150L-KQ 75/2 55 0.85 2960 1.02 0.6 75 740
141 [XBD9.4/55-150L-KQ 75/2 0.94 2960 1.13 0.66 75 740
142 |XBD10/55-150L-KQ 90/2 1 2960 1.2 0.7 90 790
143 |XBD11/55-150L-KQ 110/2 1.1 2960 1.32 0.77 110 955
144 |XBD12/55-150L-KQ 110/2 1.2 2960 1.44 0.84 110 955
145 |XBD6/60-150L-KQ 55/2 0.6 2960 0.72 0.42 55 538
146 |XBD7/60-150L-KQ 75/2 0.7 2960 0.84 0.49 75 740
147 |XBD8/60-150L-KQ 75/2 0.8 2960 0.96 0.56 75 740
148 |XBD9/60-150L-KQ 75/2 0.9 2960 1.08 0.63 75 740
149 [XBD10/60-150L-KQ 90/2 60 1 2960 1.2 0.7 90 790
150 [XBD10.5/60-150L-KQ| 90/2 1.05 2960 1.26 0.74 90 790
151 [XBD11/60-150L-KQ 110/2 11 2960 1.32 0.77 110 955
152 [XBD11.5/60-150L-KQ| 110/2 1.15 2960 1.38 0.81 110 955
153 [XBD12/60-150L-KQ 132/2 1.2 2960 1.44 0.84 132 1055
154 [XBD13/60-150L-KQ 132/2 1.3 2960 1.56 0.91 132 1055
155 [XBD6/70-200L-KQ 75/2 0.6 2960 0.72 0.42 75 850
156 [XBD7/70-200L-KQ 75/2 0.7 2960 0.84 0.49 75 850
157 [XBD8.2/70-200L-KQ 90/2 70 0.82 2960 0.99 0.58 90 915
158 [XBD9/70-200L-KQ 90/2 0.9 2960 1.08 0.63 90 915
159 [XBD10/70-200L-KQ 110/2 1 2960 1.2 0.7 110 1060
160 |XBD12/70-200L-KQ 132/2 1.2 2960 1.44 0.84 132 1140
161 [XBD6/80-200L-KQ 75/2 0.6 2960 0.72 0.42 75 790
162 |XBD7.5/80-200L-KQ 90/2 0.75 2960 0.9 0.53 90 840
163 |XBD9/80-200L-KQ 110/2 80 0.9 2960 1.08 0.63 110 1140
164 |XBD9.5/80-200L-KQ 110/2 0.95 2960 1.14 0.67 110 1140
165 |XBD10/80-200L-KQ 132/2 1 2960 1.2 0.7 132 1225
166 |[XBD10.5/80-200L-KQ| 132/2 1.05 2960 1.26 0.74 132 1225

(TS S
BERE WEEH HE EXIE L5EHE BHONEF
EHN RETEN
(L/s) (MPa) (r/min) (MPa) (MPa) (kw)
57 |XBD4.5/25-100L-KQ 18.5/2 0.45 2960 0.54 0.36 18.5 218
58 |XBD5/25-100L-KQ 22/2 0.5 2960 0.6 0.4 22 250
59 |XBD5.5/25-100L-KQ 30/2 0.55 2960 0.66 0.44 30 330
60 [XBD6/25-100L-KQ 30/2 0.6 2960 0.72 0.48 30 330
61 [XBD7/25-100L-KQ 30/2 25 0.7 2960 0.84 0.56 30 330
62 |XBD7.5/25-100L-KQ 37/2 0.75 2960 0.9 0.6 37 345
63 [XBD8/25-100L-KQ 37/2 0.8 2960 0.96 0.64 37 345
64 |[XBD11/25-100L-KQ 55/2 1.1 2960 1.32 0.88 55 550
65 [XBD12/25-100L-KQ 75/2 1.2 2960 1.44 0.96 75 690
66 [XBD13/25-100L-KQ 75/2 1.3 2960 1.56 1.04 75 690
67 |XBD3/30-125L-KQ 15/2 0.3 2960 0.36 0.21 15 191
68 |XBD3.5/30-125L-KQ 18.5/2 0.35 2960 0.42 0.25 18.5 210
69 |XBD4/30-125L-KQ 22/2 0.4 2960 0.48 0.28 22 255
70 [XBD4.5/30-125L-KQ 22/2 0.45 2960 0.54 0.32 22 255
71 |XBD5.5/30-125L-KQ 30/2 0.55 2960 0.66 0.39 30 315
72 |XBD6/30-125L-KQ 30/2 0.6 2960 0.72 0.42 30 315
73 |XBD6.5/30-125L-KQ 37/2 0.65 2960 0.78 0.46 37 340
74 |XBD7/30-125L-KQ 37/2 30 0.7 2960 0.84 0.49 37 340
75 |XBD7.5/30-125L-KQ 37/2 0.75 2960 0.9 0.53 37 340
76 |XBD8.5/30-125L-KQ 45/2 0.85 2960 1.02 0.6 45 395
77 |XBD9/30-125L-KQ 55/2 0.9 2960 1.08 0.63 55 580
78 |XBD10/30-125L-KQ 55/2 1 2960 1.2 0.7 55 580
79 |XBD11.5/30-125L-KQ| 75/2 1.15 2960 1.38 0.81 75 706
80 [XBD12/30-125L-KQ 75/2 1.2 2960 1.44 0.84 75 706
81 |XBD13/30-125L-KQ 75/2 1.3 2960 1.56 0.91 75 706
82 [XBD3/35-125L-KQ 18.5/2 0.3 2960 0.36 0.21 18.5 210
83 [XBD4/35-125L-KQ 22/2 0.4 2960 0.48 0.28 22 255
84 |XBD5/35-125L-KQ 30/2 0.5 2960 0.6 0.35 30 315
85 [XBD5.4/35-125L-KQ 30/2 0.54 2960 0.65 0.38 30 315
86 [XBD6/35-125L-KQ 37/2 0.6 2960 0.72 0.42 37 340
87 |XBD6.5/35-125L-KQ 37/2 0.65 2960 0.78 0.46 37 340
88 |[XBD7/35-125L-KQ 45/2 35 0.7 2960 0.84 0.49 45 395
89 |[XBD7.6/35-125L-KQ 45/2 0.76 2960 0.92 0.54 45 395
90 |[XBD8/35-125L-KQ 55/2 0.8 2960 0.96 0.56 55 500
91 [XBD9/35-125L-KQ 55/2 0.9 2960 1.08 0.63 55 580
92 |[XBD10/35-125L-KQ 75/2 1 2960 1.2 0.7 75 706
93 |[XBD10.8/35-125L-KQ| 75/2 1.08 2960 1.3 0.76 75 706
94 |[XBD11.8/35-125L-KQ| 75/2 1.18 2960 1.42 0.83 75 706
95 |[XBD13/35-125L-KQ 90/2 1.3 2960 1.56 0.91 90 790
96 |XBD3/40-125L-KQ 18.5/2 0.3 2960 0.36 0.21 18.5 210
97 |XBD3.4/40-125L-KQ 22/2 0.34 2960 041 0.24 22 255
98 |XBD4/40-125L-KQ 30/2 0.4 2960 0.48 0.28 30 315
99 [XBD4.5/40-125L-KQ 30/2 0.45 2960 0.54 0.32 30 315
100 [XBD5/40-125L-KQ 30/2 0.5 2960 0.6 0.35 30 315
101 [XBD5.5/40-125L-KQ 37/2 0.55 2960 0.66 0.39 37 340
102 [XBD6/40-125L-KQ 37/2 40 0.6 2960 0.72 0.42 37 340
103 [XBD7/40-125L-KQ 45/2 0.7 2960 0.84 0.49 45 395
104 [XBD7.5/40-125L-KQ 45/2 0.75 2960 0.9 0.53 45 395
105 [XBD8/40-125L-KQ 55/2 0.8 2960 0.96 0.56 55 500
106 [XBD8.5/40-125L-KQ 55/2 0.85 2960 1.02 0.6 55 580
107 |XBD10.2/40-125L-KQ| 75/2 1.02 2960 1.23 0.72 75 706
108 |XBD11/40-125L-KQ 75/2 11 2960 1.32 0.77 75 706
109 |XBD12/40-125L-KQ 90/2 1.2 2960 1.44 0.84 90 790
110 |XBD3.8/45-150L-KQ 30/2 0.38 2960 0.46 0.27 30 370
111 |XBD4.3/45-150L-KQ 30/2 0.43 2960 0.52 0.31 30 370
112 |XBD5/45-150L-KQ 37/2 0.5 2960 0.6 0.35 37 393

1 |XBD3/5-65L-KQ 420 | 210|130 30 | 480 | 234|125 315|105| 250|210 14 65 65 SD1-61-0.5 | KQN-2 | M12X220
2 |XBD3.5/5-65L-KQ 420 (210|130 30 | 480 [234|125|315|105) 250|210 14 65 65 SD1-61-0.5 | KQN-2 | M12X220
3 [XBD4/5-65L-KQ 400 [ 200 | 150 | 30 | 545 [ 234|150 360 | 105) 250|210 | 14 65 65 SD1-61-0.5 | KQN-2 | M12X220
4 |XBD4.5/5-65L-KQ 400 | 200 | 150 | 30 | 545 | 234|150 | 360 | 105 | 250 | 210 | 14 65 65 SD1-61-0.5 | KQN-2 | M12X220
5 |XBD5/5-65L-KQ 400 | 200 | 150 | 30 | 545 | 234|150 | 360 | 105 | 250 | 210 | 14 65 65 SD1-61-0.5 | KQN-2 | M12X220
6 |XBD6/5-65L-KQ 400 [ 200 | 150 | 30 | 545 [ 234|150 360 | 105) 250|210 | 14 65 65 SD1-61-0.5 | KQN-2 | M12X220
7 |XBD6.5/5-65L-KQ 510 | 255|150 | 30 | 690 | 261 | 225|485 | 105 250 | 210 14 65 65 JG2-2 KQN-2 | M12X220
8 |XBD7/5-65L-KQ 510 255|150 | 30 | 690 | 261 | 225|485 105|250 | 210 | 14 65 65 JG2-2 KQN-2 | M12X220
9 |XBD8/5-65L-KQ 510 255|150 | 30 | 690 | 261 | 225|485 | 105] 250 | 210 | 14 65 65 JG2-2 KQN-2 | M12X220
10 |XBD8.5/5-65L-KQ 560 | 270 | 145 | 30 | 665 | 256 | 200 [ 455 | 105 | 250 | 210 | 14 65 65 JG2-2 KQN-2 | M12X220
11 |XBD9/5-65L-KQ 560 | 270 | 145 | 30 | 665 | 256 | 200 [ 455 | 105 | 250 | 210 | 14 65 65 JG2-2 KQN-2 | M12X220
12 |XBD10/5-65L-KQ 560 | 270 | 145 | 30 | 720 | 256 | 200 [ 455 | 105 | 250 | 210 | 14 65 65 JG2-2 KQN-2 | M12X220
13 [XBD10.5/5-65L-KQ 560|270 | 145| 30 | 720 | 256 | 200 | 455 | 105 250 | 210 | 14 65 65 JG2-2 KQN-2 | M12X220
14 |XBD11/5-65L-KQ 560 | 270 [ 145 | 30 | 750 | 256 | 200 [ 455 | 105 | 250 | 210 | 14 65 65 JG2-2 KQN-2 | M12X220
15 |XBD12/5-65L-KQ 560 | 270 [ 145 | 30 | 750 | 256 | 200 [ 455 | 105 | 250 | 210 | 14 65 65 JG2-2 KQN-2 | M12X220
16 [XBD3/10-80L-KQ 490 | 245|145 30 | 555 | 249|185 400 | 110 | 250 | 210 | 14 80 80 SD1-61-0.5 | KQN-2 | M12X220
17 [XBD3.5/10-80L-KQ 490 | 245|145 30 | 555 | 249 185400 | 110 | 250 | 210 | 14 80 80 SD1-61-0.5 | KQN-2 | M12X220
18 [XBD4/10-80L-KQ 500 250 | 155 | 30 | 550 | 270 | 150 | 360 | 120 | 250 [ 210 | 14 80 80 JG2-2 KQN-2 | M12X220
19 |XBD4.5/10-80L-KQ 500 | 250 [ 155 | 30 | 667 | 270 | 150 [ 400 | 120 | 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
20 |XBD5/10-80L-KQ 500 | 250 | 155 | 30 | 667 | 270 | 150 [ 400 | 120 | 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
21 |XBD6/10-80L-KQ 540 270 | 155 | 30 | 685 | 265 | 225 | 485|120 | 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
22 |XBD7/10-80L-KQ 540270 155 | 30 | 685 | 265 | 225 | 485|120 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
23 [XBD7.5/10-80L-KQ 540 | 270 [ 155 | 30 | 730 | 265 | 225|485 | 120 | 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
24 |XBD8/10-80L-KQ 540 | 270 [ 155 | 30 | 730 | 265 | 225|485 | 120 | 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
25 |XBD10/10-80L-KQ 600 [ 290 [ 175| 30 | 850 [ 291|210 | 545|120 330|290 | 18 80 80 JG2-2 KQN-3 | M16X300
26 |XBD11/10-80L-KQ 600 [ 290 [ 175| 30 | 850 [ 291|210 545|120 330|290 18 80 80 JG2-2 KQN-3 | M16X300
27 |XBD12.5/10-80L-KQ 600|290 | 175| 30 | 850 | 291|210 | 545|120| 330|290 | 18 80 80 JG2-2 KQN-3 | M16X300
28 |XBD3/15-80L-KQ 490 [ 245 145| 30 | 555 [ 250 185|400 110) 250|210 | 14 80 80 SD1-61-0.5 | KQN-2 | M12X220
29 [XBD3.5/15-80L-KQ 500 | 250 | 155 | 30 | 667 | 270 | 150 | 400 | 120 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
30 [XBD4.5/15-80L-KQ 500 | 250 | 155 | 30 | 667 | 270 | 150 [ 400 | 120 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
31 |XBD5/15-80L-KQ 500 | 250 [ 155 | 30 | 667 | 270 150 | 400 | 120 | 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
32 |XBD5.5/15-80L-KQ 540 | 270 | 155 | 30 | 730 | 265 225[485|120| 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
33 |[XBD6/15-80L-KQ 540|270 | 155 | 30 | 730 | 265 225 | 485|120 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
34 |XBD6.5/15-80L-KQ 540|270 155| 30 | 730 | 265|225 | 485|120 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
35 |XBD7/15-80L-KQ 540 | 270 | 155| 30 | 775 | 265 250 | 530 | 120 | 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
36 |XBD7.5/15-80L-KQ 540 | 270 | 155 | 30 | 775 | 265 250 | 530 | 120 | 250 | 210 | 14 80 80 JG2-2 KQN-2 | M12X220
37 |XBD8/15-80L-KQ 600|290 | 175| 30 | 850 | 291|210 545]|120) 330|290 | 18 80 80 JG2-2 KQN-3 | M16X300
38 [XBD9/15-80L-KQ 600|290 | 175| 30 | 850 | 291|210 545]120) 330|290 | 18 80 80 JG2-2 KQN-3 | M16X300
39 [XBD3/20-100L-KQ 580|280 | 180 | 30 | 690 | 290 | 180 | 460 | 130 330 [ 290 | 18 100 100 JG3-1 KQN-3 | M16X300
40 |XBD3.5/20-100L-KQ 580 | 280 | 180 | 30 | 690 | 290 | 180 | 460 | 130 [ 330 [ 290 | 18 100 100 JG3-1 KQN-3 | M16X300
41 |XBD4/20-100L-KQ 580|280 | 180 | 30 | 690 | 290 | 180 [ 460 | 130 | 330 [ 290 | 18 100 100 JG3-1 KQN-3 | M16X300
42 |XBD4.5/20-100L-KQ 580280 | 180 | 30 | 720 | 290 | 180 | 460 | 130 | 330 [ 290 | 18 100 100 JG3-1 KQN-3 | M16X300
43 | XBD5/20-100L-KQ 580280 | 180 | 30 | 720 | 290 | 180 | 460 | 130 | 330 [ 290 | 18 100 100 JG3-1 KQN-3 | M16X300
44 |XBD5.5/20-100L-KQ 580 | 280 180 | 30 | 760 | 290 | 190 [ 470 | 130 | 330 | 290 | 18 100 100 JG3-1 KQN-3 | M16X300
45 |XBD6/20-100L-KQ 630 | 310 [ 182 | 30 | 780 [ 300 | 190|470 | 130 | 330 | 290 | 18 100 100 JG3-1 KQN-3 | M16X300
46 |XBD6.6/20-100L-KQ 630 | 310 [ 182 | 30 | 780 [ 300 | 190|470 | 130 | 330 | 290 | 18 100 100 JG3-1 KQN-3 | M16X300
47 |XBD7/20-100L-KQ 630 | 310 [ 182 | 30 | 850 [ 300|210 515130 330|290 18 100 100 JG3-1 KQN-3 | M16X300
48 |XBD8/20-100L-KQ 630 | 310| 182 | 30 | 850 | 300|210 | 515]|130| 330|290 | 18 100 100 JG3-1 KQN-3 | M16X300
49 |XBD8.4/20-100L-KQ 630 | 310 [ 182 | 30 | 850 [ 300|210 | 515130 330|290 | 18 100 100 JG3-1 KQN-3 | M16X300
50 [XBD9/20-100L-KQ 640 [ 315|182 | 30 | 860 [ 305|210 | 515130 330|290 18 100 100 JG3-1 KQN-3 | M16X300
51 [XBD10/20-100L-KQ 640 [ 315|182 | 30 | 895 [305| 235|570 (130 330|290 18 100 100 JG3-1 KQN-3 | M16X300
52 |XBD11/20-100L-KQ 640 | 315|182 | 30 | 895 | 305| 235|570 130| 330|290 | 18 100 100 JG3-1 KQN-3 | M16X300
53 |XBD11.5/20-100L-KQ | 640 | 315 | 182 | 30 | 965 | 305 | 275 | 640 | 130 | 330 | 290 | 18 100 100 JG3-1 KQN-3 | M16X300
54 |XBD12/20-100L-KQ 640 | 315 | 182 | 30 | 965 [305| 275|640 | 130 | 330|290 | 18 100 100 JG3-1 KQN-3 | M16X300
55 [XBD3.7/25-100L-KQ 580280 | 180 | 30 | 690 | 260 | 180 | 460 | 130 330 [ 290 | 18 100 100 JG3-1 KQN-3 | M16X300
56 |XBD4/25-100L-KQ 580|280 | 180 | 30 | 720 | 260 | 180 | 460 | 130 | 330 | 290 | 18 100 100 JG3-1 KQN-3 | M16X300
57 |XBD4.5/25-100L-KQ 580|280 (180 30 | 720 | 260| 180 | 460 | 130 330 290 | 18 100 100 JG3-1 KQN-3 | M16X300
58 [XBD5/25-100L-KQ 580|280 180 | 30 | 760 | 260 190 [ 470 130| 330 | 290 | 18 100 100 JG3-1 KQN-3 | M16X300
59 [XBD5.5/25-100L-KQ 630310 182 | 30 | 850 | 300|270 | 575]|130) 330|290 | 18 100 100 JG3-1 KQN-3 | M16X300
60 |XBD6/25-100L-KQ 630|310 182 | 30 | 850 |300|270|575|130|330|290]| 18 100 100 JG3-1 KON-3 | M16X300




= 1l
I iB2lsR 8 b B A STt R R

SHANGHAI KAIQUAN

IMERERT (mm) #HOZE= HOE= BRE®) RERS #HOZFE= HOZE= —
LI M b b, d DN1(mm) DN2(mm) d DN1(mm) DN2(mm) 5 6

61 |XBD7/25-100L-KQ 630 | 310 | 182 | 30 | 850 | 300|270 | 575|130 330|290 | 18 | 100 100 JG3-1 | KQN-3 | M16X300 121 |XBD11/45-150L-KQ | 850 | 400 | 255 | 40 | 1075 | 400 | 290 | 690 | 150 | 500 | 450 | 22 | 150 125 JG3-2_ | KQN-6-1| M20X300

62 |XBD7.5/25-100L-KQ | 630 | 310|182 | 30 | 850 | 300 | 270 | 575 | 130|330 290 | 18 | 100 100 JG3-1 | KQN-3 | M16X300 122 |XBD12/45-150L-KQ | 850 | 400 | 255 | 40 | 1075 | 400 | 290 | 690 | 150 | 500 | 450 | 22 | 150 125 JG3-2_ | KQN-6-1 M20X300 ‘

63 |XBD8/25-100L-KQ 630 [ 310 | 182 | 30 | 850 | 300 | 270 | 575|130 (330|290 | 18 | 100 100 JG3-1 | KQN-3 | M16X300 123 |XBD4/50-150L-KQ 820 | 370 | 240 | 37 | 860 | 380 | 245 | 550 | 150 | 450 | 400 | 22 | 150 150 JG3-2 | KQN-5-1| M20X300 7 I - N

64 |XBD11/25-100L-KQ | 640 | 315|182 | 30 | 965 | 305 | 275|640 | 130330 290 | 18 | 100 100 JG3-1 | KQN-3 | M16X300 124 |XBD5/50-150L-KQ 820 | 370 | 240 | 37 | 860 | 380 | 245 | 550 | 150 | 450 | 400 | 22 | 150 150 JG3-2 | KQN-5-1| M20X300 Fs  BE &

65 |XBD12/25-100L-KQ | 640 | 315 | 182 | 30 | 1025 | 305 | 290 | 690 | 130 | 330 [ 290 | 18 | 100 100 JG3-1 | KQN-3 | M16X300 125 |XBD5.5/50-150L-KQ [ 820 | 370 | 240 | 37 | 895 | 380 | 260 | 600 | 150 | 450 | 400 | 22 | 150 150 JG3-2 | KQN-5-1| M20X300 @ 8 1 1 —

66 |XBD13/25-100L-kQ | 640 | 315| 182 | 30 | 1025 | 305 | 290 | 690 | 130330 290 | 18 | 100 100 JG3-1 | KQN-3 | M16X300 126 | XBD6/50-150L-KQ 820 | 370 | 240 | 37 | 895 | 380 | 260 | 600 | 150 | 450 | 400 | 22 | 150 150 JG3-2 | KQN-5-1| M20X300 -~

67 |XBD3/30-125L-KQ 645 [ 320 220 | 30 | 740 | 335 250|530 | 140|330 |290| 18 | 125 125 JG3-1 | KQN-3 | M16X300 127 |XBD6.5/50-150L-KQ | 820 [ 370 | 240 | 37 | 965 | 380 | 275 | 640 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1| M20X300 %E‘t 2 1 i

68 |XBD3.5/30-125L-KQ | 645 [ 320|220 | 30 | 770 | 335 250|530 | 140 330|290 | 18 | 125 125 JG3-1 | KQN-3 | M16X300 128 |XBD7/50-150L-KQ 820 | 370 | 240 | 37 | 965 | 380 | 275 | 640 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1| M20X300 . _ “le 3 p Frp——

69 |XBD4/30-125L-KQ 700|350 [ 210 | 30 | 800 | 325 250|530 | 140 | 330|290 | 18 | 125 125 JG3-1 | KQN-3 | M16X300 129 |XBD8/50-150L-KQ 820 | 370 [ 240 | 37 | 1025 | 380 | 290 | 690 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1| M20X300 XB D?ﬁu 0\ —‘cgg&%m*n.gm%gﬂ

70 |XBD4.5/30-125L-KQ | 700 | 350 | 210 | 30 | 800 | 325|250 | 530 140]330[290| 18 | 125 125 JG3-1 | KQN-3 | M16X300 130 |XBD9/50-150L-KQ 820 | 370 [ 240 | 37 | 1025 | 380 | 290 | 690 | 150 | 450 | 400 | 22 | 150 125 JG3-2__ | KQN-5-1] M20X300 3 £ _LI 1 > 4 1 LA 25 3

71 |XBD5.5/30-125L-KQ | 570 | 285|172 | 30 | 860 | 280|270 | 575 [ 140|330 |290| 18 | 125 125 JG3-2 | KQN-3 | M16X300 131 |XBD9.5/50-150L-KQ | 820 | 370 | 240 | 37 | 1025 | 380 | 290 | 690 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1] M20X300 5 ] —

72 |XBD6/30-125L-KQ 570 | 285 [ 172 | 30 | 860 | 280 | 270 | 575|140 330|290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 132 |XBD10/50-150L-KQ | 850 | 400 | 255 | 40 | 1075 | 400 | 290 | 690 | 150 | 500 | 450 [ 22 | 150 125 JG3-2 | KQN-6-1] M20X300 =

73 |XBD6.5/30-125L-KQ | 570 | 285|172 | 30 | 860 | 280|270 | 575|140 330|290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 133 |XBD11/50-150L-KQ | 850 | 400 | 255 | 40 | 1075 | 400 | 290 | 690 | 150 | 500 | 450 | 22 | 150 125 JG3-2 | KQN-6-1] M20X300 6 1 =R

74 |XBD7/30-125L-KQ 700|350 [ 210 | 30 | 860 | 325|270 | 575|140 [ 330|290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 134 |XBD11.5/50-150L-KQ | 850 | 400 | 255 | 40 | 1075 | 400 | 290 | 690 | 150 | 500 | 450 | 22 | 150 125 JG3-2 | KQN-6-1| M20X300 7 p ok

75 |XBD7.5/30-125L-KQ | 700 | 350 | 210 | 30 | 860 | 325|270 575 [ 140|330 |290| 18 | 125 125 JG3-2 | KQN-3 | M16X300 135 |XBD13/50-150L-KQ | 850 | 400 | 255 | 40 | 1210 | 400 | 330 | 860 | 150 | 500 | 450 | 22 | 150 125 JG4-1 | KQN-6-1 M20X300 g -

76 |XBD8.5/30-125L-KQ | 700 | 350 | 210 | 30 | 895 | 325|295 | 625 [ 140 | 330|290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 136 |XBD6/55-150L-KQ 820 | 370 | 240 | 37 | 965 | 380 | 275 | 640 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1] M20X300 N i) 8 1 24T

77 _|XBD9/30-125L-KQ 700 [ 350 210 | 30 | 965 | 325 315|680 | 140|330 [290| 18 | 125 125 JG3-2 | KQN-3 | M16X300 137 |XBD6.5/55-150L-KQ | 820 | 370 | 240 | 37 | 965 | 380 | 275 | 640 | 150 | 450 | 400 | 22 | 150 125 JG3-2__ | KQN-5-1 M20X300 \"\‘t\'_u_’l/\% -

78 |[XBD10/30-125L-KQ | 650 | 320 | 175| 30 | 970 | 285|295 | 660 | 140 | 330|290 | 18 | 125 125 JG3-2_ | KQN-3 | M16X300 138 |XBD7/55-150L-KQ 820 | 370 | 240 | 37 | 1025 | 380 | 290 | 690 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1| M20X300 \ ° 1 T E

79 |XBD115/30-125L-KQ | 650 | 320 | 175 | 30 | 1040 | 285 | 295 | 705 | 140 | 330 | 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 139 |XBD8/55-150L-KQ 820 | 370 | 240 | 37 | 1025 | 380 | 290 | 690 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1] M20X300 = 10 4 [E

80 |XBD12/30-125L-KQ | 650 | 320 | 175 | 30 | 1040 | 285 | 295 | 705 | 140 [ 330 | 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 140 |XBD8.5/55-150L-KQ | 820 | 370 | 240 | 37 | 1025 | 380 | 290 | 690 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1 M20X300 \ \ ]

81 |XBD13/30-125L-KQ | 650 | 320 | 175 | 30 | 1040 | 285 | 295 | 705 | 140 [ 330 | 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 141 |XBD9.4/55-150L-KQ | 820 | 370 | 240 | 37 | 1025 | 380 | 290 | 690 | 150 | 450 | 400 | 22 | 150 125 JG3-2__ | KQN-5-1 M20X300 " 1 AR

82 |XBD3/35-125L-KQ 645 | 320 | 220 | 30 | 770 | 335|250 | 530 | 140 [ 330 | 290 | 18 | 125 125 JG3-1 | KQN-3 | M16X300 142 |XBD10/55-150L-KQ | 850 | 400 | 255 | 40 | 1075 | 400 | 290 | 690 | 150 | 500 | 450 | 22 | 150 125 JG3-2_ | KQN-6-1| M20X300

83 |XBD4/35-125-kQ 700 [ 350 210 | 30 | 800 | 325|250 530 | 140|330 | 290| 18 | 125 125 JG3-1 | KQN-3 | M16X300 143 |XBD11/55-150L-KQ | 850 | 400 | 255 | 40 | 1210 | 400 | 330 | 860 | 150 | 500 | 450 | 22 | 150 125 JG4-1 | KQN-6-1 M20X300 N - e p ——

84 |XBD5/35-125L-KQ 570 | 285 | 172 | 30 | 860 | 280|270 | 575|140 (330|290 | 18 | 125 125 JG3-2_ | KQN-3 | M16X300 144 |XBD12/55-150L-KQ | 850 | 400 | 255 | 40 | 1210 | 400 | 330 | 860 | 150 | 500 | 450 | 22 | 150 125 JG4-1 | KQN-6-1| M20X300 ;‘E’B}‘J—qgﬁﬁ ) ﬂ':ﬁlﬁl% i BﬁZl(Egﬂgg_ﬁgzsm ;ﬁ

85 |XBD5.4/35-125L-kQ | 570 | 285 | 172 | 30 | 860 | 280 | 270 | 575 | 140 | 330 [ 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 145 |XBD6/60-150L-KQ 820 | 370 | 240 | 37 | 965 | 380 | 275 | 640 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1| M20X300 5

86 |XBD6/35-125L-KQ 570 | 285 | 172 | 30 | 860 | 280 | 270 | 575 | 140 [ 330|290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 146 |XBD7/60-150L-KQ 820 | 370 | 240 | 37 | 1025 | 380 | 290 | 690 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1| M20X300 — =

87 |XBD6.5/35-125L-kQ | 570 | 285 | 172 | 30 | 860 | 280 270 | 575 | 140|330 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 147 | XBD8/60-150L-KQ 820 | 370 | 240 | 37 | 1025 | 380 | 290 | 690 | 150 | 450 [ 400 | 22 | 150 125 JG3-2 | KQN-5-1] M20x300 MR AAB ISR R 2 1 6 )

88 |XBD7/35-125L-kQ 700 [ 350 210 | 30 | 895 | 325|295 625 | 140|330 | 290| 18 | 125 125 JG3-2_ | KQN-3 | M16X300 148 | XBD9/60-150L-KQ 820 | 370 | 240 | 37 | 1025 | 380 | 290 | 690 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1] M20X300 MBS | RS VSN r? | | Q‘ f? ~y HAKE

89 |xBD7.6/35-125L-kQ | 700350 | 210] 30 | 895 [325] 205 625 | 140|330 290 | 18 | 125 125 JG3-2__| KQN-3 | M16X300 149 |XBD10/60-150L-kQ | 850 | 400 | 255 | 40 | 1075 [ 400 | 200 | 690 | 150 | 500 [ 450 | 22 | 150 125 JG3-2__ | KQN-6-1] M20X300 " (ZaN| L N \ k N

90 |XBD8/35-125L-KQ 700|350 | 210 | 30 | 965 | 325 315|680 | 140|330 | 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 150 |XBD10.5/60-150L-KQ | 850 | 400 | 255 | 40 | 1075 | 400 | 290 | 690 | 150 | 500 | 450 | 22 | 150 125 JG3-2 | KQN-6-1| M20X300 ! 3 5 1 EFkE

91 |XBDY/35-125L-KQ 650 | 320 | 210 | 30 | 965 | 325 315|680 | 140|330 290 | 18 | 125 125 JG3-2_ | KQN-3 | M16X300 151 |XBD11/60-150L-KQ | 850 | 400 | 255 | 40 | 1210 | 400 | 330 | 860 | 150 | 500 | 450 | 22 | 150 125 JG4-1 | KQN-6-1 M20X300 B > @

92 |XBD10/35-125L-kQ | 650 | 320 | 175 | 30 | 1040 | 285 | 295 | 705 | 140 [ 330 | 290 | 18 | 125 125 JG3-2_ | KQN-3 | M16X300 152 |XBD11.5/60-150L-KQ | 850 | 400 | 255 | 40 | 1210 | 400 | 330 | 860 | 150 | 500 | 450 [ 22 | 150 125 JG4-1 | KQN-6-1 M20X300 7k r? r? 3 EhE=

93 |XBD10.8/35-125L-KQ | 650 | 320 | 175 | 30 | 1040 | 285 | 295 | 705 | 140 [ 330 | 290 | 18 | 125 125 JG3-2_ | KQN-3 | M16X300 153 |XBD12/60-150L-KQ | 850 | 400 | 255 | 40 | 1320 | 400 | 330 | 860 | 150 | 500 | 450 | 22 | 150 125 JG4-1 | KQN-6-1 M20X300 - }M} }Q} %Q} N 4 BREELE

94 |XBD11.8/35-125L-KQ | 650 | 320 | 175 | 30 | 1040 | 285 | 295 | 705 | 140 | 330 [ 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 154 |XBD13/60-150L-KQ | 850 | 400 | 255 | 40 | 1320 | 400 | 330 | 860 | 150 | 500 | 450 | 22 | 150 125 JG4-1 | KQN-6-1| M20X300 R

95 |XBD13/35-125L-kQ | 650 | 320 | 175 | 30 | 1090 | 285 | 295 | 705 | 140 [ 330| 290 | 18 | 125 125 JG3-2_ | KQN-3 | M16X300 155 |XBD6/70-200L-KQ  |1000| 500 | 290 | 40 | 1025 | 400 | 290 | 690 | 150 | 500 | 450 | 22 | 200 150 JG3-2_ | KQN-6-1 M20X300 éﬁ*@%%;%s é”f@ %§§U&f§ffﬁﬁﬁi)\iﬁiﬁ:ﬁ 7 5 Ej’%

96 |XBD3/40-125L-KQ 645 320 220 | 30 | 770 | 335 250|530 | 140 | 330|290 | 18 | 125 125 JG3-1 | KQN-3 | M16X300 156 |XBD7/70-200L-KQ  |1000| 500 | 290 | 40 | 1025 | 400 | 290 | 690 | 150 | 500 | 450 | 22 | 200 150 JG3-2 | KQN-6-1] M20X300 s r{ s Ji@ﬂ-?-

97 |XBD3.4/40-125L-KQ | 645|320 | 220 | 30 | 770 | 335|250 | 530 [ 140 | 330|290 | 18 | 125 125 JG3-1 | KQN-3 | M16X300 157 |XBD8.2/70-200L-KQ  |1000| 500 | 290 | 40 | 1075 | 400 | 290 | 690 | 150 | 500 | 450 | 22 | 200 150 JG3-2 | KQN-6-1 M20X300 g . s s e K APKE \N\ 8T

98 [XBD4/40-125L-KQ 570 | 285 | 172 | 30 | 860 | 280 | 270 | 575 | 140 [ 330| 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 158 |XBD9/70-200L-KQ  |1000| 500 | 290 | 40 | 1075 | 400 | 290 | 690 | 150 | 500 | 450 | 22 | 200 150 JG3-2_ | KQN-6-1| M20X300 RSFBHLERIER | SN, BHAEER , 2RFIRE - \LJ [

99 [XBD4.5/40-125L-KQ [ 570 | 285|172 | 30 | 860 |280 | 270 | 575140330290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 159 |XBD10/70-200L-KQ  |1000| 500 | 290 | 40 | 1210 | 400 | 330 | 860 | 150 | 500 | 450 | 22 | 200 150 JG4-1 | KQN-6-1| M20X300 EHEEFR/ N SEPTABES i —HEBKRMEIREE KRN RERARMEGB50974-2014 (5.1.11)

100 |XBD5/40-125L-KQ 570 | 285 [ 172 | 30 | 860 | 280 | 270 | 575|140 330|290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 160 |XBD12/70-200L-KQ  |1000 500 | 290 | 40 | 1320 | 400 | 330 | 860 | 150 | 500 | 450 | 22 | 200 150 JG4-1 | KQN-6-1| M20X300 FERBENEEREMENNKESE,

101 |XBD5.5/40-125L-KQ | 570 [ 285 | 172 | 30 | 860 | 280 | 270 | 575 | 140330 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 161 |XBD6/80-200L-KQ  [1000| 500 | 290 | 40 | 1025 | 400 | 290 | 690 | 150 | 500 | 450 | 22 | 200 150 JG3-2 | KQN-6-1] M20X300

102 |XBD6/40-125L-KQ 570 | 285 [ 172 | 30 | 860 | 280 | 270 | 575|140 330|290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 162 |XBD7.5/80-200L-KQ  [1000| 500 | 290 | 40 | 1075 | 400 | 290 | 690 | 150 | 500 | 450 [ 22 | 200 150 JG3-2 | KQN-6-1] M20X300

103 |XBD7/40-125L-KQ 700|350 [ 210 | 30 | 895 | 325|295 | 625|140 [ 330 [ 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 163 |XBD9/80-200L-KQ  [1000| 500 | 290 | 40 | 1210 | 400 | 330 | 860 | 150 | 500 | 450 | 22 | 200 150 JG4-1 | KQN-6-1| M20X300 i‘f%‘éﬁv ;%A%IZEL?BS%@;I’Z??}{%

104 |XBD7.5/40-125L-KQ | 700 | 350 | 210 | 30 | 895 | 325 | 295 | 625 | 140330 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 164 |XBD9.5/80-200L-KQ  [1000| 500 | 290 | 40 | 1210 | 400 | 330 | 860 | 150 | 500 | 450 | 22 | 200 150 JG4-1 | KQN-6-1 M20X300 :

105 |XBD8/40-125L-KQ 700 [ 350 | 210 | 30 | 965 | 325 | 315|680 | 140|330 | 290| 18 | 125 125 JG3-2 | KQN-3 | M16X300 165 |XBD10/80-200L-KQ  [1000| 500 | 290 | 40 | 1320 | 400 | 330 | 860 | 150 | 500 | 450 | 22 | 200 150 JG4-1 | KQN-6-1 M20X300 =i \ A s — AN z L

106 |XBD8.5/40-125L-KQ | 700 | 350 | 210 | 30 | 965 | 325 | 315|680 | 140|330 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 166 |XBD10.5/80-200L-KQ [1000] 500 | 290 | 40 | 1320 | 400 | 330 | 860 | 150 | 500 [ 450 | 22 | 200 150 JG4-1 | KQN-6-1| M20X300 ij?ﬁr’ﬂf’ ! ﬁﬁmf@ ]: 7ﬁﬂﬁ7ﬁ$m'&é$ﬁlx]’+ “4 o5 | 7851 145 1118 [4 <19

107 |XBD10.2/40-125-KQ | 650 | 320 | 175 | 30 | 1040 | 285 | 295 | 705 | 140 | 330 [ 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 x 50 | 2001160 [132 [8x®19

108 |XBD11/40-125L-KQ | 650 | 320 | 175 [ 30 | 1040 | 285 | 295 | 705 | 140 | 330 | 290 | 18 | 125 125 JG3-2 KQN-3 | M16X300 PESTHESIE | BEHEAEEE SEBRLMERNRESIFIEN 100 | 220 180 | 156 |8 x d19

109 |XBD12/40-125L-KQ | 650 [ 320 | 175 | 30 | 1090 | 285 | 295 | 705 | 140 [ 330 | 290 | 18 | 125 125 JG3-2 | KQN-3 | M16X300 P ( w 125 | 250 | 210 | 184 |8 x 019

110 |XBD3.8/45-150L-KQ | 820 | 370 | 240 | 37 | 860 | 380 | 245 | 550 | 150 | 450 | 400 | 22 | 150 150 JG3-2 | KQN-5-1| M20X300 MEMRAYHEDE PIESELDS 150 | 285] 240 [ 211 [8 x d23

111 |XBD4.3/45-150L-KQ | 820|370 | 240 | 37 | 860 | 380 | 245 | 550 | 150 | 450 | 400 | 22 | 150 150 JG3-2 | KQN-5-1| M20X300 200 | 340 295 | 266 |12 x d23]

112 |XBD5/45-150L-KQ 820 | 370 240 | 37 | 860 | 380 | 245 | 550 | 150 | 450 | 400 | 22 | 150 150 JG3-2_ | KQN-5-1] M20X300 -

113 |XBD5.3/45-150L-KQ | 820 [ 370 | 240 | 37 | 860 | 380 | 245 | 550 | 150 | 450 | 400 | 22 | 150 150 JG3-2_ | KQN-5-1] M20X300 - wm=sA EH R~

114 |XBD6/45-150L-KQ 820 370|240 | 37 | 895 | 380 | 260 | 600 | 150 | 450 | 400 | 22 | 150 150 JG3-2 | KQN-5-1] M20X300 E\\ g I

115 |XBD6.4/45-150L-KQ | 820|370 | 240 | 37 | 895 |380| 260 | 600 | 150 | 450 | 400 | 22 | 150 150 JG3-2 | KQN-5-1| M20X300 a) a + +

116 |XBD7/45-150L-KQ 820 | 370 | 240 | 37 | 965 | 380 | 275 | 640 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1| M20X300 In o ‘

117 |XBD7.5/45-150L-KQ | 820 | 370 | 240 | 37 | 965 | 380 | 275 | 640 | 150 | 450 | 400 | 22 150 125 JG3-2 | KQN-5-1| M20X300 s 1 — — T g ‘é BE«) 58859383 < 4-dd | T -

118 |XBD8/45-150L-KQ 820|370 | 240 | 37 | 965 | 380 275 | 640 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1| M20X300 ' IE_ YRt RAK © ,,\“ | L B

119 |XBD9.2/45-150L-KQ | 820 | 370 | 240 | 37 | 1025 | 380 | 290 | 690 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1| M20X300 it © PETRE R E A R42552 /42872 e n-dL N +

120 |XBD10/45-150L-kQ | 820 | 370|240 | 37 | 1025 | 380 | 290 | 690 | 150 | 450 | 400 | 22 | 150 125 JG3-2 | KQN-5-1] M20X300 AL - 400-002-6600 . EHE m | exe
http://www.kaiquan.com.cn DY/KAIQUAN XBD-20190115 Lo fxf




